
t-Table 
Value of t for confidence interval of: 90% 95% 98% 99% 

Value of t for an α values of: 0.10 0.05 0.02 0.01 
Degrees of Freedom (n -1)     

1 6.31 12.71 31.82 63.66 

2 2.92 4.30 6.96 9.92 

3 2.35 3.18 4.54 5.84 

4 2.13 2.78 3.75 4.60 

5 2.02 2.57 3.36 4.03 

6 1.94 2.45 3.14 3.71 

7 1.89 2.36 3.00 3.50 

8 1.86 2.31 2.90 3.36 

9 1.83 2.26 2.82 3.25 

10 1.81 2.23 2.76 3.17 

12 1.78 2.18 2.68 3.05 

14 1.76 2.14 2.62 2.98 

16 1.75 2.12 2.58 2.92 

18 1.73 2.10 2.55 2.88 

20 1.72 2.09 2.53 2.85 

30 1.70 2.04 2.46 2.75 

50 1.68 2.01 2.40 2.68 

∞ 1.64 1.96 2.33 2.58 

The t-values in this table are for a two-tailed test. For a one-tailed test the α values for each 
column are one-half of the stated value. For example, the first column for a one-tailed test is for 
the 95% confidence level, α = 0.05. 


